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# Live integral of sealer fild

Let z3 ferry)for astsb, cont curve C in I' paretrised by ilt):«wit), ylt)fis c'
The live integral over I is defed as:

Geometrie

area of curtain

Observe that ds

eval live integral of wyd over that C in that direction
¡Ct)= 44 cost, Asint > from I to -I#'() = 4-Asint, Acost?
Ur'Ct) = 4

Acost (Asint) * 4 dt ... = 4096 sin't
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#hive integral of vector field
Motwation: suppose is is a force ver and I is a displacement ver.

what if I and I both change depending on », yviz. F = ( P (x, y) , Q(x, y))
§(t) = (ret), yCt) >

Then wark W=F.d

some force fueld F Work approximation at segment

F. FCx", y') As:

Recall:

+ (t) = Wr'et)l

send in to as and we get.a
live integral of #= CP, Q3 along C is standard notation

Also, if F= 1P,Q%,
JaF-di = Se Pdx + Qdy

If Cis c', F=4P, Q> cont, P. Q cont,
Sc F-dr = Si F(ICe) - F'Ct) att

Se ye do + rady + xy de
= Sa Syz, x2, xys-62,1,-18 ds

iCt): (1724,
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